Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720810177
(2018/07) Ri

WSTB 120 O

Lo
k/

N

8738892770.aa.RO

BOSCH

24.07.2018 1 6720810177




24.07.2018 2
6720810177



[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour I’installation/le montage

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxkHu yka3aHUA BbB Bpb3Ka C MHCTanaLnATa/MOHTaxa
WHcTanaumATa/MOHTaXbT TPAGBa Aa Ce M3BbPLLBA OT JINLEH3NPaH
3a paboTuTe cneLmanmncT B CbOTBETCTBME C NPUNOKUMUTE
pasnopea6u.

[cs] Diilezité pokyny k instalaci/montazi

Instalaci/montéz musi pfi dodrzeni platnych pfedpist provést
odborny pracovni(k s pfisluinym opravnénim pro tyto prace.

[da] Vigtige anvisninger til installationen/monteringen
Installationen/monteringen skal foretages af en godkendt installa-
tor under overholdelse af de gaeldende forskrifter.

[el] Znuavtikég unodsigeig yia Ty sykardotacn/ouvapoléynon

H eykatactaon/cuvappoAdynon mpEmel va mpaypatonoleital and
e€oualoSotnpévo yia Tig epyacleg autég TEXVIKO TTPOCWTIKS, TO
onoio Ba npémel va @povriel Mote va Tnpolvtal ol IoXUOUOES
Sarageic

[es] Indicaciones importantes para instalacién/montaje
La instalacidon/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaaZi tohib l&bi viia selleks volitusi omav
spetsialist, arvestades kehtivaid ndudeid.

[f1] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Tarkeitd asennus- ja kokoonpano-ohjeita

Naihin t6ihin hyvaksytyn ammattiasentajan pitaa suorittaa asen-
nus- ja kokoonpanotySt voimassa olevien médardysten mukaisesti.
[hu] Fontos tudnivalék az installdldshoz/szereléshez

Az installalast/szerelést egy, a munkékra felhatalmazott
szakembernek kell végeznie, az érvényes elbirdsok
figyelembevételével.

[it] Avvertenze importanti per l'installazione/il montaggio
L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.
[he] 8608369¢mzsbo Bomomgdgdo oBlsesgoolmzgol/dabdsgolsmgols
0BbEsa5305/dmbdsg0 MBs sbbmmEogmEgl LadmBsmgdobmgzgol sdggdmwo
335e0go30Mo 3gMlmbswrols dog®, dmddgoo gsbsfigbol @sggom.
[1f] Svarbios instaliavimo ir (arba) montavimo nuorodos
Instaliuoti ir montuoti, laikantis galiojan¢iy taisykliy, leidZiama

kvalifikuotiems specialistams, kurie buvo jgalioti Siems darbams
atlikti.

24.07.2018

[Iv] Svarigi noradijumi par iekartas uzstadi$anu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertificétam
specialistam, ievérojot spéka eso$os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voorde
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal giennomfares av autoriserte
installaterer, og gjeldende forskrifter skal fglges.

[pll Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu cbowigzujacych
przepiséw.

[pt] Indicacoes importantes relativas a instalagao/montagem

A instalagdo/montagem deve ser efetuada por um técnico espe-
cializado com qualifica¢ées para estes trabalhos, tendo em aten-
¢ao os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuie realizate de cdtre unspecialist autorizat
pentru lucrérile respective, respectandu-se prescriptiile valabile.
[ru] BaxkHble yKazaHUA NO NOAKMIOUEHMIO/MOHTaXY

MopknioyeHNe/MOHTaX AOMKHBI BLINONHATL CNELUannCTb,
MMEILLME AOMYCK K BbINOSIHEHNIO TaKuX paboT, Npy cobniofeHnmn
OeACTBYIOWMX HOPM Y NpaBw.

[sk] Délezité pokyny tykajuice sa instalacie/montize
Instaldciu/montaz musi realizovat odbornik s opravnenim na
vykon tychto préc, pricom musi dodrZovat platné predpisy.
[sl]l Pomembni napotki za namestitev/montazo
Namestitev/montaZo mora izvesti strokovnjak, pristojen za
tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] VaZna uputstva za ugradnju i montazu

Ugradnju i montaZu moraju da obave samo stru¢na lica ovlad¢ena
za izvodenje takvih radova koja ¢e postovati vaZzece propise.

[sv] Viktiga anvisningar for installation/montering
Installationen/monteringen maste utforas av en behdorig och fack-
kunnig person enligt géllande féreskrifter.

[tr] Kurulum/Montaj ile ilgili nemli uyarilar

Kurulum/Montaj calismalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapilmaldir.

[uk] Baxnmsi BKa3iBKM WOAO YCTAHOBKWMOHTaXY
YcTaHOBKY/MOHTaX MaloTh 3fjilicHIOBaTU $axiBLyi, L0 MaloTb J03BIN

Ha NpoBeAEeHHA LMX pobiT, i3 AOTPUMAHHA YAHHUX NPUNKCIB.

[zh] REFEREERT

DA R BV R AR IR AR K8k A R R G AT 2k

Lhanilifiqus sl Laa caasia [ar]
A ball s Ble ya ge cJaally Al = jean (pacadia U oo granil/cauS i o of g

M gl 0l pgea il 3 [fa]
JalS 4 55 4 Cigan 5 etuaad IS Ol alanil 49 Sl 4S (o) 4B (628 dan 5 3y M gefiiaa
S pladt ada s je ) ) s 4y

3 6720810177



Ersatzteilliste Liste des piéces de rechange Onderdelenlijst
Spare parts list Lista parti di ricambio Lista de repuestos

10 8738892771.aa.RO

Speicher WSTB 120 O WSTB 120 O
Cylinder WSTB 120 O

Ballon WSTB 120 O

Accumulatore WSTB 120 O

Boiler WSTB 120 O

Acumulador WSTB 120 O

24.07.2018 4 6720810177




Cylinder WSTB 120 O
Ballon WSTB 120 O
Accumulatore WSTB 120 O
Boiler WSTB 120 O

Acumulador WSTB 120 O

Pos |Bezeichnung Bestell-Nr. PG Bemerkungen
Description Ordering no. o Remarks
Dénomination Numéro de commande o Remarques
Descrizioni N° d'ordine S Osservazioni
Benaming Bestelnummer @ Opmerkingen
Descripcion Numero el ordenar ‘g Observaciones

1 |Folienmantel 120 weiss 87185912580 |40 | ®m
2 |Deckel S120 W mit Abdeckung weil3 7747027961 |37 | m
3 |Abdeckung weiss (1x) 87182240820 |25 | =
4 |Stopfen G1 1/2" mit PTFE-Ring PB2 8 735 100 199 28| m FD > 01.07.2018
4 |Stopfen G1 mit PTFE-Ring PB2 8 735 100 200 29| m FD < 30.06.2018
5 |Tauchrohr 31,5mm Hostalen 7747020191 |15 | m
6 |Tauchrohr 820mm Hostalen 7747020190 |20 | m
7 |Anode G1" D26x505mm 87185713470 |28 | m
8 |Spannfeder (1x) 87182240810 |20 | =
9 |KFE-Hahn 1/2 M Gewindedichtr PB2 8735100227 |27 |m
10 |Schraube ISO4017 M10x30 A3K (10x) 7747022050 |30 | m
11 |Blech 0,8X150x10 mm 7 747 030 376 14| =
WSTB 120 O Speicher WSTB 120 O

24.07.2018

6720810177




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos | Description Denomination Descrizione Benaming Descripcién
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Foil jacket 120 white packed Habillage film 120 blanc Pellicola di rivestimento 120 bianco |Foliemantel 120 wit Plastico de proteccion 120 blanc
2 |Cover S120 W m cover anode |Couvercle set S120 Coperchio S120 W con copertura anodo imb | Deksel set S120 Recubrimiento S120 W m
3 |Cover white (1x) Couvercle blanc (1x) Copertura bianco (1x) Afdekking wit (1x) Recubrimiento blanc (1x)
4 |Plug G 1 1/2" with PTFE-Ring PB2 SP  |Bouchon G1 1/2" PB2 Tappo G 1 1/2" con anello di PTFE PB2 |Pluggen G 1 1/2" met PTFE-ring PB2 |Tapon G 1 1/2" con anillo de PTFE PB2
4 |Plug G1 with PTFE-ring PB2 SP |Bouchon G1 avec PTFE joint torique PB2 | Tappo G1 con PTFE-anello PB2 |Stop G1 met PTFE-ring PB2 |Tapon G1 con PTFE-anillo PB2
5 |Immersion pipe 31.5mm long hostalen |Doigt de gant 31,5mm Tubo ad immersione 31,5mm Hostalen | Dompelbuis 31,5mm Hostalen | Tubo de inmersiéon 31,5mm
6 |Immersion pipe 820mm long hostalen | Tube d'immersion 820mm Tubo immersione 820mm Hostalen | Dompelbuis 820mm Tubo de inmersién 820mm long.
7 |Anode G1" D26x505mm Anode d26x505mm, g1" Anodo D26x505mm, G1" Anode Anodo D26x505mm, G1"
8 |Clamping spring (1x) Tole torsadé de maintien (1x) |Molla di tensione (1x) Spanveer (1x) Muelle tensor (1x)
9 |Valve Tap 1/2 W Thread Seal Ring PB2 SP | Robinet de vidange 1/2" PB2  |Rubinetto di scarico 1/2" PB2 |Ledigingskraan 1/2" PB2 Llave de llenado / vaciado 1/2 PB2

=
o

Screw 1SO4017 M10x30 A3K (10X) packed

VIS ISO 4017 M10x30 A3K (10X)

Vite 1so 4017 M10x30 A3K (10x)

Schroef Iso 4017 M10x30 A3K (10x)

Tornillo Iso 4017 M10x30 A3K (10x)

[N
[N

Blank 0,8x150x10 mm

Tole 0,8X150x10 mm

Lamiera 0,8X150x10 mm

Plaat 0,8X150x10 mm

Chapa 0,8X150x10 mm

24.07.2018

6720810177




Gerétetypen Types de chaudieres Toesteltypes
Types of appliances Tipo apparecchi Tipos de aplicaciones

Gerét Bestell-Nr. Land S-Nr. Bemerkungen
Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones

WSTB 120 O

8 718 545 244

Belgien,Bulgarien,Estland,Kroatien,

24.07.2018

6720810177




Bosch Thermotechnik GmbH

((ﬁ—@ BOS‘ : H Junkersstr. 20-24
E D-73249 Wernau / Germany

24.07.2018 8 6720810177



